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Q.No.2 Wris short answers toany Six of thefollowing ~ 2x6=12 2 fel2 A Lamgeglivs  2/Ur
. | Defins cxponential cquaion o EaPleafe Tl |
Bolwby&chﬁﬂgu 3,‘.,,(3,,.5) 3:".,5,“_ ) _""Lti‘ ) ﬁ”m_'
WEEIWMcmmMﬁm NG = gf'..,cuP Chovierd o Mx 2| i
Find the discriminant of the following given quadatio cquaion_4x’+Tx+2=0 eI o |
e 7 9w"~3 - Wi gk |
Wirite the quadratio squation having the fnllowingroots 4,9 4,9 é_.m.—;bwaqj .J"!ﬁwl v

If VooR' and V=3 whmR=3, Find K a{rﬁ.a.-’;fx Jn'R=3 oz V=5 a4 VR S| wi
Smﬂmrmofwnpmmdu'dmdbmh - éuw-’[).‘vn,:r}‘*

Find u fourth proportionsl to 5 , 8,15 5,8 lsﬁz,é'r)'..fw.e ix

Q.No.3 Write short mswers toany Six of the following  2x6=12 254/ aa/ Lazigenhditn 3,¢Unr

What is meart by resultant fraction 7 N _ Tesl e S
Convertinoppertaion 52174 WD eS| 0
Represent intersestion of two sets A and B in vet buldernotation LA AND) EFLB WA U HL |
If A=N,B=W , thenfind B—A b B-ATB=W A=N S| i |
ind ‘0’ wnd D’ if (22+5,3)=(7,b-4) (2a+5,0=(7,6-8) Siew bua| v |
If L={a.b,c}, then find  binary relation it LXL Eer Bl L3 7 L={ab,e} S| w
What i a Histogram ? TaZ L i
Using basio formnla, find the goometric mean of the obsorvations 24,8 sf{rﬁ:y';#&ﬁlr 2°4°8 coslirAgid | vi
indrange 11300, 12400, 15000, 14500 , 14800 11500, 12400, 15000, 14500, 14800 ZEp"om | ix

Q.No. 4 Write short answers toany Six of the following  2x6 =12 E NP Lazigerlivod /?dzr

Define degres measure of an angle B LAl 1 |
Convert 315° to radian et 0|
Find' 0’ when £=45m, r=25m Laas)t ' Tm2s K fﬂ-f# 3 g m
Verifytht (1an 6 + cat 6) tan 0 = sec” 0 (tan f +oot @ tan 8 =sec’ 1+ &= | iv
Defsoojorasofuviia B .. .. ... .
Define sircamfirence Eq i | v
Define central angle EG STy | i
ENNXE s 1t S B A A BLIGHes G | v
Draw a circle of radius 5 cm passing through poimts Aeud B , 6 cm epart
Define perimeter Effom | x|
(Eom
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NOTE: Attempt THREE questions in all But question No. 9 is compulsory

Solve the cquation ;15 -;‘; =1 using quadratic formuia nggdb-Hﬁu:-mmf:_—"‘_ﬁ - ;}‘_—g =1 abls | (A5 4U1r

_ Epedd a3 +af® il Feprg=0 wihe B bl @
If @, f metherootsoftheequation x' +px+q=0 , thenevalnm=of ¢>f 4 o f°

# x= 70 Jighebadd +_§: + X128 gk SWed S s | (W6 AUy

Using theorem of somponendo ~ dividendo find the valus of -:"';:—:" 4 E—E*g-z- if xsu;:: l
; s i 9~ 7 9x-7

AUBNC) = (AUBY N (AUC) 2] A={1,2,4,8) , B={2,4,6) , C={3,4,5,6) /1 | (A7 A Jr |
I A={1,2,4,8} , B={2,4,6} , C={(3,4,5,6} thenprovethat AUBNC) = (AUR) N (AUC)

Find means - A N i ()
Length Oy | 20-22 | 23-25 | 26-28 | 29-31 | 32-34 ]
Frequency u‘z:g,’ 3 6 12 | 9 I 2 [

(—Z,1) ﬂr#ﬁégfqrﬂmér}*dafgw.q. du..;::}dﬁﬂ £0 picidfl | (8.4
The given point P lics an the terminal side of 8 , Find quadrant of & and all six trigonometricratios (— V2, 1)

UnF 3l 3 S AUNLS [CAj " BC © AB Ll fickadin ¥ AABC | (B)
| Circumsoribe acirole abowt n triangle ABC withsides |AB|=5em , |BC|=3cm , |[CAj=3em

Lun e, _/n?unf wErmle NS F A -0
Prove thet Iftwo chords of e circle are congrucnt then they will be equidistant from the centre

oi/ L _

Prove that any two angles in the same se -pment of a circle are equal ALl uxﬁ:@duﬁ:ﬂ.ﬂxwf 2o
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